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OBAEQAEN EE2QE UFEY 10,032
-JlE= 60,240& * 18 = 120 7,229
PN IS =4 60,2403 * 18 » 24¢ 1,446
- ReES5dsE 60,2403 = 1& = 6 362
-28= 9,037,000& * 11% 995
201 Let24E] 3,000 3,000 0
01 At 22l 3,000 3,000 0
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= 320,000
Al 320,000
401 Al IR 201 I 640,000 640,000 0
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-Jles 60,240 * 4% * 120& 28,916
- RE25gsE 60,240 * 4% x 24 5,784
RPN E =Ry 60,2403 * 4H » 6L 1,446
—-4H2E 36,146,000& * 11% 3,977
— ZHAH| 3,000& * 48 » 60 720
201 Let24dH] 136,740 129,597 7,143
01 At 22/l 43,110 40,689 2,421
OBtH4+BEIY 2BAMN 242
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OUZEA AZSAERXN Xz 3,570
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OMEiotE 22l =S&Hl dxt
1,000,000 = 4CH 4,000
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odulod =& THAME =&
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4,200,000& = 10& 42,000
OdNAE =AY M3  550,000& = 9& 4,950
O&E oY HIIR=S 3,600
Osctd HEMZAE 422
60,000& = 123 720
OXE K8 HEIX MI|HE = (150k
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OQUE =ZANE |22 ESF
30,000,000& * 14 30,000
202 O4dl 3,500 2,800 700
01 = LH 4 Hi 3,500 2,800 700
O=H2cl8 =& oyl 3,500
206 M= Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
Ootd =& = & Y
20,000& * 3003 6,000
207 O] 84,000 30,000 54,000
01 289 84,000 30,000 54,000
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=} 32,000,000 = 14! 32,000
OEsgisHe g 2=z 249
20,000,000 * 14! 20,000
401 AIEHIZL 201 Y| 18,000 0 18,000
01 Al&H| 18,000 0 18,000
OXA IBEE B4 10,000,000& = 14l 10,000
OUOE RXE8+ BI S 24
8,000,000& = 1Al 8,000
ol&Eot MDDl HSHALY 50,000 50,000 0
= 35,000
Al 15,000
101 2121 H] 46,541 44,988 1,553
= 32,579
Al 13,962
04 JI2tHIZ22NEE S 46,541 44,988 1,553
OctEMY Dl = HAIY 212 46,541
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= 32,579
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-S54 60,240& » 8H x 144 6,747
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201 et 9| 3,459 5,012 A 1,553
= 2,421
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= 2,421
Al 1,038
S8 85T A RAAY 1,600,000 0 1,600,000
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O2=& AT Al LAY 1,600,000
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= 800,000
Al 800,000
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OdEI AN SAS EXURY 56,595
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OMHRE ZAME 50,000& = 102 500
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-4EEg= 43,680,000& = 11% 4,805
— ZHAY| 3,000& = 3% = 80¢ 720
201 Let24E] 43,690 48,827 A5,137
01 At 22l 12,600 16,450 A 3,850
OdHz2e HE & 225 7 4,000
OEZHSA MEHSH CHLHEX M=
500& * 10,0000H 5,000
oIl ¢ 600,000& =« 1CH 600
O=28AX R 3,000
02 2324l 31,090 32,377 A1,287
OB2ANE RANEX(ZM 26 5) 20,000
OMHESEs2 MAINE RRE+ 5,000
OgdEI Azl 1,400& = 10 = 7L » 50 490
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B A8Y CAZY
Eo: 2EH MEH Bd CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OulF D H=Hl 1,400€ ~ 404 = 2L = 100 1,120
ORI & HAZ=H| 1,400 ~ 30 = 2L *~ 50 420
O2dx=D| Azt 1,400€ * 204 = 2L = 100 560
OUHI & SXNELH (HFINY 2 58)
100,000 = 708 = 5& 3,500
307 giztol A 310,000 301,030 8,970
05 QIZtRES 310,000 301,030 8,970
OMEISEE 2Y fI4g 310,000
401 Al HI L E0HHI 30,000 0 30,000
01 A& HI 30,000 0 30,000
=270 AR 30,000
SIZTAMSA MEj2t2 2435 19,000 45,000 A 26,000
201 B9 19,000 15,000 4,000
01 AP 22| H| 19,000 15,000 4,000
OZZAMSK OHLIGIOIE HEAS 4,000
OSIEXMSA OHLIMIOIE =& 5,000
O=&XNHEEE =4 Xz
1,000& = 3,000m 3,000
Oagio=s & J|E@F M 5,000
OAHIOTEN AMNEsS SAES 2,000
MSIAM 22| H XA 153,540 63,294 90,246
= 45,000
o= 52,500
Al 56,040
101 e1214| 2,170 1,864 306
04 J|12tHIZ22NEES 2,170 1,864 306
OMSCIAA 2| H 2 & X XA 2,170
-JI2tH 22X 24 60,240 x 28 x 15¢ 1,808
SIasLxE 60,2403 * 2 x 3L 362
201 Yet2 | 1,370 1,430 £60
01 AP 22| H| 1,370 1,430 A B0
OMEOYdHd A2 HY =X EFAE4G
70,000& * 119 = 13| 770
O=EEg 42 M 50,000& * 120H 600
301 et A= 150,000 60,000 90,000
= 45,000
= 52,500
Al 52,500
11 JIEtE A2 150,000 60,000 90,000
Ozt A X 150,000
= 45,000
== 52,500
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SN HH-S(BN) - MBAY - B il HlnE2
| Al 52,500
MEEstEY2 22| 55,964 52,221 3,743
101 @14 Hl 32,964 27,120 5,844
04 JIZHHZ2XNHESE S+ 32,964 27,120 5,844
OMEISEYZ (M=) o2 32,964
-J22 70,000& * 2% » 160 22,400
FesgdsE 70,0003 = 29 » 40 5,600
P RS =R =1 70,0003 = 2% » 8 1,120
—-4UEE8 = 29,120,000& * 11% 3,204
— 2tAlY| 4,000% * 2% * 80 640
201 YEt2 | 23,000 25,101 ~2,101
01 At 22l 3,000 3,900 2900
OEZ=Z(0t282)&a2 HIE 7 3,000
02 3323l 20,000 21,201 A1,201
OEY=Z(0t2EZ) B> 20,000
MEHS0IE X4 301,000 335,000 34,000
= 90,000
Al 211,000
401 Al B2 2B 301,000 335,000 A 34,000
= 90,000
Al 211,000
01 A& HI 300,000 333,000 A 33,000
OMEI=0IH &AL 300,000
= 90,000
Al 210,000
03 Al 20 HI 1,000 2,000 21,000
OMEH=0IEH ZEAY AR 1,000
TNHSHBH OISAE EX AL 521,000 1,102,000 A 581,000
Xl 250,000
< 75,000
Al 196,000
207 Ao H| 20,000 0 20,000
01 289 20,000 0 20,000
Oxnl 394t 20,000
401 AlEHI 22 OhYI 501,000 1,102,000 A 601,000
Xl 250,000
< 75,000
Al 176,000
01 A& Bl 500,000 1,100,000 A600,000
OtZd MEHMEE ZEAY 500,000
Xl 250,000
< 75,000
Al 175,000
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F A EH
4 TAx=H
HE MEH 23
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 1,000 2,000 1,000
OSIEZH MHMEE LAY AIZ20UH] 1,000
2ol SHEA ME2Z EASAIY 200,000 0 200,000
< 100,000
Al 100,000
401 Al HIZ 2018 200,000 0 200,000
= 100,000
Al 100,000
01 A& HI 200,000 0 200,000
OSILE S S2Za=2 M L &d A&
o= 200,000
< 100,000
Al 100,000
HHE2HZH (X SZMEND) 99,290 84,678 14,612
JlEZ3l 98,460 83,958 14,502
JlE&l 98,460 83,958 14,502
201 Zet24l 27,960 23,538 4,422
01 At 2t 2l 27,960 23,538 4,422
OJIEMRES FLHI 8,400
OJIEt==EH| 3,240
OXIZI M= 40,0003 = 20 800
O&=J,3J83) d&Ex
90,000&  12)H& 1,080
oozt & 5 22X% =&l 13,000
O=SAD Xtz 120,000& * 12& 1,440
202 oddl 57,600 47,520 10,080
01 = LH o4 1l 57,600 47,520 10,080
Ol 38 JI2g2 FANWHI 57,600
203 YR =&t 7,500 7,500 0
01 JIZ2Z YR8 3,300 3,300 0
OJI228 =4l 3,300
04 RFN2ELRZ=TH| 4,200 4,200 0
ORM2IYRFL 350,000& = 12& 4,200
204 HR=HAH| 5,400 5,400 0
01 MR ZH 5,400 5,400 0
O=2% AMzH2¢HAH  350,0008 128 4,200
O AMgHR=HHFH 100,000 * 128 1,200
ol 2 gl 830 720 110
ol 2AH| 830 720 110
101 @124 dl 830 720 110
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